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THAT 999 (Model question)
fawr : fasm @ wfafw (Science and Technology)

PET @ Q qUITE 94
TqHqe (%) (Group A) JHT (Time): 25 Minutes.
Tgahiead yee® (Multiple Choice Question - MCQs)
TAHT YR el SAHT Al foed (0) TSR | 0 X9 =90

(Circle the correct answer to the following questions)

2.

3.

1. SagE! AALHN AT FETCX AT WS T MRS S FHT AT 96471 ? Eukaryotic
organisms that obtain food by decomposing the body parts of organisms belong to
which kingdom??

. UiEfdaT animalia)

. g (fungi)

. | (monera)

. GIfe&aT (protista)

feguat ferrame Fw faspraat THTOT TR eI F

TR 9Tt T |febws ? Which information about

evidence of organic evolution can be obtained from given

A
B
C
D

picture?
A. TEF 99 qigel Ioqtd HUHT Foilael STAhRT fa (take

information about organism originated millions of

years ago)
B. AfEcadl Tl Siagwd! A dRer 9 (determine

the age of existing organism)

C. Sige&ar FuEar ¥ fae=ar oar «wmed (find i

similarities and differences between organism)
D. 3% FHgH q@ihl ST @9 (get information about ancestors of different groups)
afq q<er faeareane ad wrgew ettt s Y favarar =t SR @1 9 ? If all the xylem

tissues are removed from a plant, what effects will be seen in that plants?

A. 9T ¥ @ISTeh! JaTe T ATfeAeh STfadel FHIe &l fawar FAsR g7 | (Lack of water
supply and mineral and less mechanical strength make plants weak.)
B. @MTH FH aTe ¥ AT(=Aeh eIl FHHI T faear d=HaR &3 | (Lack of food supply

and less mechanical strength make plants feeble.)



C. 9T ¥ @il fSal YaTg TIT AaFaR gl hR [aear aiaqar g+ | (Fast supply of

water and mineral and more rigidity make plants strong.)

D. @St T ERAHTRT 87 YaTe TUHIT T &Y AABER AUHIS [oreaT Teedl &7 | (More

supply of minerals and chlorophyll and more flexibility make plants yellowish)

4. fagq feex®r e & 9ardare aqre=g ¢ Which substance is commonly used in heating
coil of electric heater?
A. ATERTE (nichrome)
B. @& (tungesten)
C. wfedtaa® @luminium)
D. drHT (coppen
5. THa q= fasiier AT & AATS Ghl G 7
Which of the following statement is correct about single fixed pulley?
A. Tfq a1 &3 | (Velocity ratio is one.)
B. aTfe HTSaTel ATH U=l d¢l g+ | (Mechanical advantage is greater than one.)
C. SN 35 @S @l aTHH &3 | (Load is supported by two rope segment.)
D. @€ IR T FUFRT THhicd IR 9 g0 arear g7 | (Distance moved by load is twice
of the distance moved by effort.)
6. [EaHT IEEU MR 9T AH AAIT T Aaq 50 s AT g Tiq
Hid g3 ? Study the given displacement-time graph to find the

velocity in last 50 s motion.

A. 04m/s
B. 25m/s
C. -04mis
D. -25m/s
7. SR YUUEATs kA HETAT Y&T9ur e ? In which orbit the communication satellites are

launched from the earth?

A. ¥l F& (geostationary orbit)

B. f#1 geAT *&1 (low earth orbit)

C. AerH 9T %e (medium earth orbit)

D. tsafa=r=a & (geosynchronous orbit)



8. ¥ AvEEHITa=aT o= dTrgehl THITHN HATARAT HAH IFAT ATTHH TIH=T TS &7 7
On the basis of the nature of the bond formed in the following molecule, which of the
molecules has a high boiling point?

A. H>
B. Clz
C. HCI
D. MgCl;
9. WIAHT %A Tl HHIB! BRI Bal T [dgal 9T g @ 7 Due to lack of which metal

in the blood, even walking a short distance causes fatigue?
A. Potassium
B. Iron
C. Sodium
D. Calcium
10. TAHT HA A JAATF IATRATA AT RSATTS qorere =138, ? Which of the

following could show reducing nature of carbon?

A. Fraqare Frarge a1 (formation of carbide from carbon)
B. @reare #re Sresarss o+ (formation of carbon dioxide from carbon
C. Fraqare ®led AHreaa™es o (formation of carbon monoxide from carbon)

D. @re® Iuteafqar e sargsare ®ae a1 (formation of iron from ferric oxide in

presence of carbon



g (@) (Group B)
qAHT JEH! AT e FAX AR X9 =19
1. Fsfae faeprg fe wewur AMfA=g ¢ Why scientific learning is important ?
2. TAMEAT 9w % & 7 What is inertia ?

3. FvECHl E TS Hewd el | Write an importance of internet.

4, FowT fa9d IFed auide (electromagnetic spectrum) &1 GUSEEATs FREHH TATTH
arafadr wA famR AfEuHEr g | O guseEde &7 HAl (HArse AEaraHr ATaTd Uk
TATERA [ SFH aude a7, 7

ORI )

There are different sections of an electromagnetic spectrum shown the given figure with
zigzag order of frequency. In which order the given sections should be arranged to give a

simplified electromagnetic spectrum based on frequency?

A B C D E

5. U faedToTHT TN &4 <gd aR Hewqu #i+ws, &7 7 Neutral wire in domestic

wiring is important, why?

6. YARTIMATHT eTEgreTd | TIR 9T&T FART g4 T@ae®&a! AT «d&fe ™ | Write the name of
chemicals used in laboratory preparation of hydrogen gas.
7. TR ANABHT del Fqeed! <l AHHRT €20 3 | The below table presents some

information about some gases.

AR (9 ST i g A& fafr (testing method of the gas)

(laboratory preparation of a gas)

A. FHTAT T FARears qarey (by 1. AARERT TATEHT FIET TATIATREPT HGHT oIoT1aT

heating chlorate of alkali metal) “qq” #rarst A3 | (When a burning match stick
is brought in contact with the gas, it gives a
‘pop’ sound.

B. g a1qars et vaae T yfatear | 2. afdRedl WTATEIH Raddrs AiasRiaT garsal

TRIR (By reacting zinc metal with FETTHT Tedl TSl gal o= | (When a burning
dilute acid) magnesium is inserted into the gas jar, a yellow

powder is formed after sometime)

af#=3 7 Based on this, the gas produced in the first column can be tested by which method
written in the second column ?



8. fawarer g dlgsr ART NasPOs 97T (NH,),CO T YIRT 9 TR=g, {7 7 Why is the

use of (NH2)2CO preferred over NasPOs for the rapid growth of the plant?
9. ¥l WU g=aR Ufafded! TANTH FHTAAT TA=ARE] FI Fg=

AR — AA—>RGHR) FET AN AU & 7 How is the principle
of telecommunication (transmitter—channel—receiver) applied while

using the communication technology shown in the given figure?

g (M) (Group C)
SEEII RS2 CURCE LIS L o K 9¥ X R =&
10. (a) 0.0000025 =g =i Tgba=wT «eter™ | Write 0.0000025 in scientific notation.
(b) 10 cm @ fepettaeaT afvad e | Convert 10 cm into kilometer.

11. HMRTRT FY % fa9vdTew e e | Write any two characteristics of Monera.

SN N

12. 37T IZHT qTeAd U [T AANHI =TS T HAl A¥ aRTRETE HHAT Bl =13 A HA

=TS @ IULHT g &% Ia 4 | Explain which mushroom is suitable for eating between
the mushroom with red pilus and the mushroom without worms and the white mushroom
surrounded by ants.

13. EEENTH T TATARTE A [ gealel [A=idr d@&Ta ¥ | Write any two differences
between homologous and analogous organs.

14. fafeerer U3er faeardrs o aarsd A9 [awdrer Tl Aitdaies | aaedfa deqava=l q¥higa
HATIRHAT TIA FH TATSH 14 HI HIa AR arel A1 e | Sirisha pluck out the
tip of a plant to make it bushy. Based on understanding of plant tissue, explain how will it
grow bushy?

15. wArieefadl w9Hl & & 7 TWH Ugel IUAINTAT «eferd | What is plasticity? Write one

application of plasticity.

16. Tee FIaeT TUHT qUGH FFHIH SThHTHT FAUHT T3T letter ATHHT w5 AT email

HT FEE TS &76 ! AE9TF o TRIEE AETRd |
How do you send a file named "letter" from your desktop connected to the internet to

your friend? write all necessary steps.

17. ARTHT SRS TRUEE @3- e qarR 9-e9 | Make a flow chart to show different

steps in lifecycle of stars.



18.

19.

20.

21.

22.

TFa=aE HIgaad (AM) T RRE=T Hgger@dd ( FM) fa=r ggeiter f=ares oeterd | Write
two differences between amplitude modulation (AM) and frequency modulation (FM).

HTHTAT a9 gl [0 2.7 g ¥ @7 M9 el U0 56 g g | ol A9 ATEH=T
T I ATehe ATHT &7 | TAH] U8 T oA 9 (hlSd AN g AT/ AThaehl TSI T=b]
TrIATs SAMATRl [HaHeE ATarHAT et e | Generally, mass of a table tennis ball is

2.7 g and that of lawn tennis ball is 56 g. The lawn tennis racket is longer than table tennis
bat. Explain the relation between mass of ball and the size of corresponding bat/racket on

the basis of the law of inertia.

T3al (&gl (Slinky) ®I JANTaTE A=A dRed wad Iod= RIS Afb=g ? How can
a longitudinal wave be produced by using a slinky? T tewa
T frzudr o ¥ Aedeate A=y B UE ARTEwr amoias | |Clement | Radical
N Mg OH’
A ACTEE, | AT AT AU AREAT O TR | Write | o
3

molecular formula of any two compounds formed by the

element and the radical given in the table. Calculate the molecular mass of anyone of the
compound.

BTSSI, ATSEIN ¥ AT dcaee Hed % g5 Jolebl QATIAATE g AINThed AT Teare
fammer T | SHT AMNTH A= T AT AR AT deATs A T AR AT ierd Tarias
FHIH efarg | Ozone layer depleting compound is formed by the combination of any

two elements among Hydrogen, Nitrogen, and Oxygen. Write the balanced chemical
equations for the process of forming the compound and depletion of ozone layer caused by

the compound.

23. IRHATUIEE AT 19 FUH TEH FARE AAUATs AT STSAFASSHT qATSal & A

73 | which gas is produced whenchlorate of an element having atomic number 19 is
heated with manganese dioxide ?
i, T AP G T B AT AALATHT & AT GATh AT Frierd TR

FHIHI J&Terd | Write the balanced chemical equation when the gas thus obtained

reacts with glucose under the required conditions.
ii. ST FATe qT AT T3S & g5 ¢ What would happen when the gas is passed

into a vessel containing lime water?



e (&) (Group D)
qAPT JTEED AN IR Aeferd | 8 X ¥ =35
24, =] AIH IH@ AR THRE UF Uk el H13 deferd | Write one function of each of the
four major types of animal tissues.
25, IRt for A ¥ B AT wiifeafas
JUITATHT g QT FROT S@TISUHT 1

& | Energy transfer in an é. : £
ecosystem is shown in the
1! ‘E

¥ ﬂ

: %__.;

~—
. -
alongside figure A and B. “ﬁ‘ *_
i, o YR AR o m
AT B fo=r &+ ugar fa=ran |
weTerd | Write a difference between figure A and B in terms of energy transfer
1 mark
i.  afg fer B T uikfeafder JUITelTaT @R ¥ HATH &1 AYcaTad ®THT agdl 91 Iad
aTifeatqs® Jumerd & dEX <tavs ¢ What effect will be seen in the ecosystem if the
number of rabbits and rats are suddenly increased in the ecosystem shown in figure
B? 1mark
iii. [= B ®T W& HATH theh v e T4erd | Explain the trophic level of rat in
figure B. 2 mark
26. (%) TZATST A AANT AUH Tedesdls 6 V HI AT & FPRA TS &I ATThaH

FATEFAT TR G5 Fiheg, 7 oA SISMH q@rs (99 akagesl f=a7 #er« | How can be

connected the given two bulbs of identical resistance with a battery

of 6V to glow them with maximum brightness? Draw circuit diagram

showing that connection.

(@) FerT FETeuaT faed AT ST ARUHE qEeTeT AR we 8 ()

qANT AUH! FANIRF qg Sgradedl qdaad wid fedqrd T4 | Find the potential

difference across two terminals of 8 Q resistor connected as shown in the given diagram.
27. T ¥ ¥ ALQTATIEH WIARTA AAE A Fhold HAe Teof AUH B ? UHUEd IaTerdied

e T | How the use of X-ray and Ultrasound has made it easier for human organ

diagnosis? Explain with an example of each.



28. AATAHT YTR(qH AR TEIIHT [GSUHT TATGH AT T qAHT JeTH 3% (€72 | Study
the given data regarding natural resources of Nepal and answer the following questions.
FIATIeTer &THT ST AT 28° I HALTTTHT AATId B | et a9HT avax 300 famaw=r aer

QT IR ATCRAT OTH AT e | T TATABT T 44 Y AT aTTGTAA ThHT G, |
Tl AT 66 % HIHAE HW YgrAT A1dried @A | Geographically, Nepal is located at
about 28° Northern latitude. There are about 300 sun shine days in a year. Nepal has
almost 44 % of the land occupied by forest. About 66 % of people in Nepal are involved

in agriculture.

() TATART SATNT JUIFT & bl % Aehiedeh Hoel Ade® ehTa &M | Suggest any two

alternative sources of energy appropriate for Nepal.

(@) qUTeR! G¥hTd FAFEIT AR G A+ FT HA qie T8 7 How can you justify that

your suggestions are applicable?

29. fagua®l Frael Aqg= T FIUHT Tehl I (SR |
a. [Er=HAT gTceh! TRATY HEAT @l 8, F90 7 In the '__H\\
given figure, atomic structurer of a metal is shown, /f,;’ T ‘\\‘ A
how? | :H . ; ' +
b. IaT WRHEEH Fgsaar 1 g, f&T ? The valency of .,___K\& K___’j. #/x’"
that element is 1, why? T
C. Jdd WRHIA ToadA [qWR a1 U F&< AHAHE
gfafwar = ? How does the atom take part in
chemical reaction; by gaining or losing the electron?
d. SH URHIA FAMNALT JA@AER FAlehaT T&T oI~ ARl ATH defard | Write the name

of molecule formed by reacting it with chlorine.

30. UF fFaT AT GAHT ATHT FHASHE T Gl JI T ¥ ARAT I 7 GANT T AR F&GAT
I FH &% AT | Sa FFaTemg AT ITATaT darsd & =R GehTd & e | A farmer
has been cultivating only paddy in his field for a long time and continuously using urea.
But the production has been decreasing every year. Give him any four suggestions for

better production.



